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The figures in the margin indicate full marks for the question.

1. Answer the following questions : Ix5=5
o1 2% TR Bed el |
(i) Define a diagonal matrix.
el (Te1 T kel fran )
(i1) Ifrows are changed into columns and columns into rows,
the value of the determinant remain unchanged.
(Write true or false)
G5! RefE7 =I19) S BRI Fo1 et FRee FeTeo R T @iy
ACF | (7 (F TPy Tt 1)
(1i1) Fill up the blank.
et i 77 741 |
d

—logx =
dx 3%

(iv) Find 4™ proportional of
b SIS el -
Rs.14, Rs.20, 21 Kg

T.O.
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(v) Find the value of x.at ?
v 4w fef ea ufw

43

x 9 |

(Vi) 1CaW) £(x) = 207 +3x + 2, Find the value ol [(-3), (CEZ [(-3)3
1 Frefa w41 1)

=_4

. Answer the following questions : (any five) 2x5=10
©EA TR0 Bed wa ¢ (RITHI +{ioY)
(i) Evaluate : (IR R a11)

t

1 y+z X
1 z+x y
1 ¥ty =z

(i) lt‘(ﬂﬁ)A=[-S 4 7]
23 -6 1

B=[8 . -—6]
7 -4 0

Find (R sa1) 5B - 2A

(iii) At what rate of simple interest per annum will Rs. 1,500
produce the same intesest in 5 years as Rs. 3,125 produce in
3 years at 4% per annum?

(% <= o3 TS 1,500 T 5 =79 S 3,125 BIF IR 4% 7

o TS 3 I [SIATFRA?)
1. 1.1
(iv) Divide Rs 52 among A,B and C in the ratio 5 EZ
1.1 1
(5253 A, BT CINFS <7 — Fgeioo S F4 |

234
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(v)  Evaluate (fefz )

VIi+2v=vi- 3

Lin-
i X
(vi) IFind two numbers w hose sum is 04, and whose difierence is 16.
(901 R Ciofrei 64 =i [raisiees 16 20 A1 vo1 fdfa F=t)
(vil) Solve (F4@ 3=4i)
7x=1ly=3=0 : -6x+5v+7=0
(viii) Write the difference between Determinant and matrix. (Refras
I (e 4 A2 &)

-

(ix) If (@wm) S(x) =

v . Prove that (=19 €41 (1)
xX+1
/=S _ x-y
L+ () f(y) T+

b d
(x) Find % (%amﬁcfawn

y=4x>-9x* +28x-68
. Answer any four question from the following: 5x4=20
©ed TSI 4 51 2= Ses feras
(1) Solve (YN =) 8

x 1 1

1 x 1| =0

1 1 x
(ii) Discuss the basic assumptims of linear progsamming.

ART AT G AR SCETDA 1 |

(ii1) Prove that (=19 =41 (3)

22 1
Lim X )

= -4
x—1 \/3A'+l—\/5.\’—l
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-4 -
(iv) Examine the continuity of the function f{x) at the point x=1
where (x =1 e w7 {(x) a lwa gl 2idr= «4i) 0
f(x)=x —2x+3 when( afedl) y <
= 1. when ((xfex) v =
=2y —3x+5: when(@afed) <
(v) Integrate : (any (wo)

et &1 (Faraa o)
[ (x Y
(a) I( Y + .\')“

(b) j\/.?(x2 +3x +2)dx

: 5
6e* —2x* +)dx
(c) I( e X x)(\

(vi) A sum of money invested at compound interest amounts to Rs.
2916 at the end of two years and to Rs. 3149.28 at the end of
three years. Find the sum and the rate of compound interest.

&% Jo© YOI (I Qb1 Y FLO-Y(F [ S 2916 51
e ol I8 I3 COTCE 3 149.28 531 T7F o4 i< bagia
o1 TR Refa w1

(vii) If (3f) A= [g % ],ﬁndxandysuch that (COARCE x %
y I IR [efa 711 T0) ! ©
A*+x[ = yA { Where (39) I=[ 0 1 ]

(viii) If (aM) x+ y:x—y=5:2then find (COBRASTFM) x : y

. Answer any one question from the following :

(TR RTIIA Q61 PR TeR fF701)
1 .
(1) (a) Find the differential co-efficient of 7 using first principle.

(22 37 AR S lz 3 SRSE GANLF el T411) 5

X
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fJ'

(b) IFind the maximum and minimum values of

23 =9x" +12x -1

(23 —Ox? 412 — | @ sifw =i sl T facfy @41 1)

(11) (a) Show that ((my <4 1)

a+b+2c a b
C b+c+2a b =2(at+b+c)
C a c+a+2b

(b) Solve the following system of equation by Cramer’s rule :

(TR & TRITS TaTe Il FAFAe (BRB! AL F41 1)
3x+y+2z=3
2x=3y—-z=-3
x+2y+z=4

(iii) (a) Solve the following LPP graphically.
(Oed (AR A@sH TIHICO! (F1 I AT 41 |
Maximize (5IfR% 9 Refa w11)

z =3x;, +4x,
Subject to : (T TR IACATFE) 8
4x,+2x, <80
2x, +5x, <180

x 20,x,20
b) If a A= [0 1] and T (1)
0 O
I= [1 0 ] prove that (Z<4 %9 ()
0 1
(al+bA)* =a’I+3a’bA
iv. (@) Find the maximum and the minimum values of

2x3-21x2+36x-20
2:3-21x2+36x-20 < 5ifF® == «fx® W [da 4

h

(vl

h
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(b) DilTerentiate : (any two). 21;’2 +3 1 /2 =5
TRRE 41 ¢ (R vol)

)\

(i)
(ii) 8x*-3x"+12x-3 wir. to
(iii) (x+2) (x+1)* w.rtx

(w.rt.y)

|+ x

% ok %k skok



